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1.  Whichuor'the following number is twenty one 6.
wilhion twensy one shousand two hundred and
one?

AL 21021 201

B. 21201 02 A, Sh. 57 600

.21 201 201 13, Sh, 4 800

1. 21 021 021 .o Sh. 297 600
12, Sh. 244 00

Osman deposited She 240 000 20 o
commercril bank that paid simple interest at
the rate 01 2% per month. THow much ey

wais i his account alter one year?

2. What is 89,8996 rounded o] @ the

nearest thousandy? 7. EFleven pupils scored the following marks in
A 89,899 an Bnglish exam. 38, 64,38, 78. 54, 66. 86.
1. 89,990 G8. T4. 48 und 34. What was their mean
. 89,000 marks?
1. 90,000 ; U
. A 62
3. Wiatis the difterence inthe totsl value of B, 34
digit & and digit 2 in the produet or 285 il C. 64
i 1. 63
AL 020
B, 7980 8. e triangle ABC below is drawn to scale.
C. 98 325

. 98 020

4 Bassan fora holiday irom 27k December
2021 w 6ily Narel 20220 For how. many
darys was he on holiday ™!

A 08

3oy

C, 70 [Epanir a

D. 7 el

5. the diagram below shows the net of a solid.
A 8

What 15 the size ol the reflex ingle ACB?
A GRY
3, 11"
144
N, 292"

9. Whichofthe lollowing is the next number in

the sequence (.3, 0,9, 1.8.3.0, <4
A42
3 4.5
A , C. 48
Wiett is the product of the edges and B 3.0
vertives? y
AL D
5. 18
€225
. 36
3 STD 8 MATHS 008 2022
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14,

12,

I3.

'“_ Nilaragawa primany school the number
of pupils in the year 2021 ticreased by T
pupils_ 1 his was 12% increase lvon the
rear2020. How many pupils wene there
the veur 20217

v\ 600

B. 720

C. 636

. 672

A rectangular plol of land measures ¥60
metres longe by 100 mewes wide. Itwas 1o
be fenced using posts cuch placed A
apart. A gate o 8m is 10 be lefi How much
money wits used to buy the post il cuch
post wascosting Sh 150"

A Sh.19 500

3. Sh.19 350

CoS5hot9 200

). Sh.9 750

Which of the following decimals inereases
by a1 hundredth?

A, 0.7025. 0.8025,0.9N25

3. 0.5232.0.3332. 0.5432

C. 02136, 021406, 1.2156

1. Q.6685. 116760, 11.7660

3

' i O - L' s ! b
3 w " Pt ~ . - NIt ure e
‘ ! e 5 q 3 A ,

aranged from the largest 1o the smallest?
Which is the correct order”

3243
3397
y2k32
Y3953
L2343
C-3,579:7
2433
”'3‘({'7‘5

14,

h

.

16.

17.

8.

Wit s thevalue off

A 26> - 42) ~ (08 + 94 82
A 120

I3 60

C. 90

.72

Ona l\lll])\\‘.\\:lﬂL‘ ol \:30 000 ;1 recianelar
plol measures Sem by 3em. Whi 5 e
wetual weea olthe plot b hectres?

AL 123500 00 | Lacties

13 )35000 i laciares

¢ 13500 {luctares

12, 1351 1aciares

Washiali had 33 five huedred shiiling notes.
Wiich he changed as follows: ,

Sty B000 i onethonsand shilling notes
Sy 5800 it twe frisdred slulling notes
Shy 4200 iyt one fuicdied sinlling noies
Uhe remaining ssount was changed imo iy
shilling nowes. .

Hosw many notes did he get altogether™

A 106

Bo101
(_' (14
N 76

What 15 the v alue of

6.044 0.6 X0.24 + 0.4~ 0.082
A 032

15, 0.48

(., 0,032

). 6.043

What 13 the value of X in the equation?
X+3 ,f'z(x-:s)

4 5. 0

A S
3
3, .Sg
)
¢ &
D é
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19. Atter selling o generator Tor Sh,27000
Hassan made 01 10% loss. At what price
should he have sold the sencertor o make a
12% prolit?

A. Shi3 600

B. Sh.33 600
€. Sh.30 240
D. Sh.24 300

20. A Moyale bound bus arrived at Moyale on

‘Tuesday 0825hrs after travelling for %

hours. At what day and time in 12 hours

systen had the bus lelt Nairobi?

A. Monday 10:45 pm

3. Wednesday 10:45 pm

(. Monday 10240 pm

1. Wednesday 6:10 pm

21. Whatis the sum of the square root of 0.0196
- and the square o' 0.047?
A. 0.1416
B. 0.08
C. 018
1. 0.4126

22.
pupils are offered three pachet rﬁ!}miﬂ; per.
~ “week. How many litres ol ki do they,

hold 2 decilitee of milk?
A 144

B. 1440
(. 288
1). 2880

[ S Y

A eylinder lits a volume o 24640 cin L
s # heightof40cm. What is the length of
the dinmeter?

A. 14cm

3. 28em

¢, Tem

1. 56cm

23.

24. Work out the incquality below
8—-—-—-‘; 12 42x <6
z 2
A X> 22 B x<2Z
4 4
& x(lg I).x>l"s‘

A school has a population of 240 p'tiplls The |

consume in two weeks ifa puél{gﬁ)f milk 1™
B o L/ ———

27.

25. Karunjiand Ochieng sharcd some non s
i the ratio &3 10 the total anwam b
shared was SIL2E 000 How much less ta
Karnja did Ochieng get?

A Shoio 000
B, Sho12 000
C. SI.7 000
1. Sh4 000

26. Line AB below isa part of a parallclogran

ABCD. Line BC 6.2 cmandangle BAC

57 Complete the parallelogram wnd drop

a perpendicular from point I to meet fine

AB at X. Join line CX.

What is the measure of the angle CXD?
A 35° -

B 113°

c. 33"

1. 55°

IHassun bought the following items (rom s
shop
2Rk sugar G sh 130
Vg litre cooking oil @ sh 220
2kg salt for sh' 785
5 loaves of bread w sh 60
?-2, Ky packers of wheat flour @ 10 per
RY
I he paid using 21000 <hilling notes. How
mueh balance did he get?
A. shigqio
B. S0
. SIS

1. Sn.190

S1D 8 MATHS 008 2022
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28. Nancy paid Sh.7600 for anitem alier 31, ‘The figurebelow shows four quiarter
geuting 5% discount. How much less would cireles cut out from a sgaure.
he have paid il'he was given 7)gdiscount? RS U
A. Sh.200
‘B. Sh.8 000
', Sh.7400
12. Sh.7030

29. Inthe figure below line AB.CD and EF
are parallel lines. Line EDBisa
transversal culting across the three parallel
lines. Line ECA is parallel o line FI),

14em

Angle EDF 30", Angle DEF 42%, ~ Whatis the arca of the shaded”
' A, 616cm’
A S5, " 3. 784 e’
& (=]

C. 308 cm’
D. 168 cm’

k 32. Which ofthe following is the simplest form
_6(30 42b) £3(4u —3b)
of 5024 4-3b)4 5

30a + 3b
A qa 40
3, 10at+b
' i o 1 3a+2b
What is the size of angle CAB? - %%‘ 1881
AL 13 S A {116a+3b -
o £ et formeoiaLg
? ;22 {1 ol N} ta+6b
‘N, 42° ' . 2iAatb
; 7 3a+2b

30. During aowalk w eose the school fee of'a i -
certain chitdrens honie a total ol 630 pirls 33. ‘I'he table below show the rates of buyiiy

took part, The numiber ol boys was 27 that postal orders.

of girls. The number ol adulls wis Kall'the | Value of the order(Shs)Commission (Shs)
number ofchildren. lach child registered 10.00 30.00

with Sh. 1500 and cach adult Sh.2000_How 200.00 37.00

much money was raised from the week? 400.00 43.00

A, Shs.t 7335 000 500,00 52.00

B. Shs.1 170 000 - 1000.00 6800 ;
C. Shy2 925000 Jackline wamted to send Sh 2300 by postal
1. Shs2 6323007 orders. Which of the lollowing combination

ol the postal order given below will she pay

the leastamount of money”

A. Shs. 1000, Shs. 1000, Shs 200, Shs 100

3. Shs. 1000, Shs.500. Shs:500. Shs. 100

. Shs.500. Shs.500. Shs, 300, Shs. 300,
_ $hs.200. Shs. 100

D, Shs. 1000 Shs. 1000, Shs. 100, Shs. L00.
Shs. 100

5 ' ' STD 8 MATHS 008 2022
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34.

w
‘h

[l g behon shiow s o triangulae prism.

: "

focra.
Wi is e solunie ot the wriangulas prism?
A 96000003 :
15 4800Crm?
L. 5200cm?®
1) 10400 cm®

W hat 18 the yelune al

| l{b"d’cb) ’

Z8b :
Ila=3p=g-1 ind c=qtl

'

13

e o=

U-B%. 7 3

A salespan carns i hasie salary ol
S1hs 39000 per month, 1l is also paid

“285% cmmisston on all the sales above

Shs 100000 it shu carned wtal of
Shis S200. w1t was the value the sitles?
A Sh\529000

1. Sh-.650000

(. Sh-.420 000

1), Shs T8O 0G0

Wit 1s the vadue ol

5 | o) N
'-5°'(82. 5 g

A 2%

, 7 24
.3z . 1zg

38.

440.

41.

42.

A pick up hasa tnss is onae il et ionnes
while ety 11 wis osded willi68 bags ol
SUEAr cach80 R and 38508 of rice cach
7_‘."\&', Wit 1s the 1atal u;‘_.'-;n’»lhc toadwd
pick upin wmnes’! '

AL T3S onnes

13, 4875 1onnes

. 4875 tonnes

D, 7.375 wnnes

Ko wvelled from Meoo (o Iswolo atan
avernipe spewd ol'28mfe 1024 s e
rested ut Isiolo tor hadl s hour wnd then
pavelled back at a speed S kmih
Wit is he averapee specd for the whole
JOUAICYT - - %
A V0 ki'h

13, 96 km'h
C. 100 knth
D, 108k

The compiny hired 48 mon e doajoban
108 diys. Hlow nany mosn. dien should be
added o han e the jubdon, T2 !

A 72

B. (’“ - o
o | :
D24

Atahealth camyp the numhgrul'childrcu Wi
there times the number ol en. The number
of men wis 240 Jess than the number of
women. It the number of clLildren x whichof
the fulloaving equation can be used 1o gel the

“pumber of men i the total saamber of people

who sitended was 2400,
AL TxF 240 = 2300
13, Ay + 240 = 7200
(', 5x+ 720 = 7200
15, Sy + 7202 2400

Kamano cams i ot of Sh 13 650 afier
working forUdays. T sueh mone would
he carn after working tor28 days?

A. Shoig 200

3. Sh4 330

C. Sh.650

. Shoi3 000

——— i e ALl AnaanTD
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43.

—l-l

qu;ulrilulcml.

(i) e pairs of peeraltel fines: Tt "

gty Dicigionals hiseet abeishe angle:

giity A ierion vngles are vyt angdes.
Seivg Diagonals are ol

Ihe guadrilateral described aboved ey

AL Sqaure A3
B Parallelogran
C. Rhombus v

“Trapeziom

A clock gionsten se conds every hwo
‘hnur\ The clock was set righvon \10mi.n

h’ Stham. What time did ieshow on Friday
-th same week 8:30 am.

.:!\.: 8'22 ai

45,

~ A Shy, 2000 T
“B. Shs. 2600, . el ' 3
¢, Shs. 3000 2
1). Shs. 2400

46.

B8 am
C, 8:A6am
I). 8:38 am r e

The marked price ol Lu». cooker is
~Shs 30000, The hine pu\gh e pnu. 15 30%
more than the muarked price, The

hrrepurchase terms requires o depositof

*30% ol the marked price and tifteen eyual
monlhl\ III\.!\llnanl
instalment!

Construet o triangle KYZ such that XY 59
em. Line YZ=XZ Tcm Draw aeircle
touching pou.l\XYZ Wl is the fength ol
the dinmerer,
A 38 em
B. 1 9em
C. 7.8 e

3.8

Phe lollowing are characteristies of

How much is=cach |

47.

The figure belowishows o ripht angled
tramgle joined twow rectingle and then
Ureetangle jomed o aoquianee g cirele,

What s thearea ol the huuru (r X1
A 821 o
13, 942
o742
1. 842,

ol

)

48.

T'he pic chart below how Kad i spent her

~ sulary.
s SaVrngs
Transpott —
S /\ \ Rent
. ul 60‘\’/’s§ ‘;l}
,-" /
Pets’oa\a(_/x\ :

develdpment -

1 he spent shilling 34 800 more on schowl
tees than transport, How much did he
spendd on saving?
Ao Shs.34 000
3. Shs. 19200
(. Shs.28 800
1), Shs. 144 000
49, The picee of an item was increased Trom
Sh3000 lu Sh 6 500, What was the ratio
increase”
A 10:30
B. 365
. 1310
D. 6350
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! , . ’ . ; . MY R
). e grph below shows the journey by two motorists Ole Nkuraiy:aand Kanchori. Ole NKurinyi
left town A for town B while Kanchori left town B for town.

“Town B-240% . :
- ;_.1— N
T - &, T
200 A T T
< — .
‘ N
g 16 »
[
s
'E ) B
£ 12 -
“ -
U
g
a WA
80 “‘ T
i . N
T
=l + : H
10 T | - i e
: u
e mear: .
TownA D S . S R0 77 oy
MR R B 00am | 00am. 800w G00a.m  10W00aqm \li0oam noor,
Time
How lur from town A was Kanchori at 10;00 am? < '
A GoKm, B 85Km C/ 110K =P 95Km
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